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Protein-nucleic acid conjugation with sterol linkers 
using hedgehog autoprocessing
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× 10−3

× 10−7
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× 10−4 × 10−3

× 10−3

𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛 540𝑛𝑚

𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛 460𝑛𝑚

𝐕𝐨 =
𝑽𝒎𝒂𝒙 × [𝑺]

𝑲𝒎 + [𝑺]

𝐅𝐑𝐄𝐓 = 𝐅𝐑𝐄𝐓𝟎 𝒆−𝒌𝒕 + 𝑪

℃
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× 10−3 × 10−3

× 10−3

[𝑝𝑦𝑟𝑎𝑧𝑖𝑛𝑒] × 𝑉 × 4

[𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑] × 𝑉 × 3
=

𝐼𝑛𝑡𝑒𝑔𝑟𝑎𝑙 𝑜𝑓 𝑝𝑦𝑟𝑎𝑧𝑖𝑛𝑒′𝑠 𝑝𝑒𝑎𝑘

𝐼𝑛𝑡𝑒𝑔𝑟𝑎𝑙 𝑜𝑓 𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑′𝑠 𝑝𝑒𝑎𝑘

 [𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑]  =  
4 × 𝐼𝑛𝑡𝑒𝑔𝑟𝑎𝑙 𝑜𝑓 𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑′𝑠 𝑝𝑒𝑎𝑘 × [𝑝𝑦𝑟𝑎𝑧𝑖𝑛𝑒]

3 × 𝐼𝑛𝑡𝑒𝑔𝑟𝑎𝑙 𝑜𝑓 𝑝𝑦𝑟𝑎𝑧𝑖𝑛𝑒′𝑠 𝑝𝑒𝑎𝑘
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[a]  =  
4 × 0.4430 × 0.001 

3 × 1
= 5.9 × 10−4 𝑀

[b]  =  
4 × 0.4533 × 0.001 

3 × 1
= 6.0 × 10−4 𝑀

[c]  =  
4 × 1.6784 × 0.001 

3 × 1
= 2.2 × 10−3 𝑀

𝐾𝑒𝑞 =
[𝑐]

[𝑎][𝑏]
=

2.2 ×  10−3 

5.9 ×  10−4   ×  6.0 × 10−4 
=  6.2 × 103 𝑀−1  

× 10−3

𝑘ℎ𝑦𝑑  =  
𝑘𝑜𝑥𝑖𝑚𝑒

𝐾𝑒𝑞
 =  

1.7

6.2 × 103
=  2.7 × 10−4 𝑚𝑖𝑛−1

𝑡1/2  =
ln 2

𝑘ℎ𝑦𝑑
=  

0.693

2.7 × 10−4 = 2566 𝑚𝑖𝑛 = 42.8 ℎ
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× 10−5

× 10−3

× 10−6

× 10−3 ×

10−3 ×

10−4 × 10−5

%Precursor Consumed =  1 −  
[𝑅𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 "𝑆𝐻ℎ𝑁−𝐷𝐻ℎ𝐶"]

[𝑆𝐻ℎ𝑁:𝑐ℎ𝑜𝑙𝑒𝑠𝑡𝑒𝑟𝑜𝑙]+[𝐷𝐻ℎ𝐶]+[𝑅𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 " ]

× 10−5 × 10−4 × 10−3
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